


Model Test Seven

Part 1 Listening Comprehension (20 minutes)

Section A

Directions : In this section. you will hear 10 short conversations. At the end of each conversa-
tion, a question will be asked about what was said. Both the conversation and the
question will be spoken only once. After each question there will be a pause. Dur-
ing the pause, ‘&ou must read the four choices marked A), B), C) and D), and
decide which is the best answer. Then mark the corresponding letter on the An-

swer Sheet with a single line through the centre.

1. A) She’s a little tired.
B) She wants to listen to music.
C) She is going to study.
D) She’s going to make a reservation.
2. A) One hour. B) Two hours.
C) Three hours. D) Four hours.
3. A) She can’t find her new building.
B) She had a bigger apartment before.

C) She’s not accustomed to the large building.

D) She’s having a hard time finding an apartmeljt.
4. A) He was tired.

B) His appointment was changed.

C) He had a flat tire.

D) His bicycle was stolen.
5. A) In a factory. B) In a flower shop.

C) In a heating plant. D) In a locker room.
6. A) He hopes Tom will get a better job after school.

B) He doubts Tom’s ability to edit the newspaper.

C) He thinks Tom should get more exercise.

D) He is critical of Tom’s grades.

7. A) A lawyer. B) A doctor.
C) A mechanic. : D) An engineer.

8. A) One dollar and sventy five cents. B) Two dollar and fifty cents.
C) One dollar and fifty. D) One dollar and five cents.
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9. A) Lending something to a student. B) Asking for some financial aid.

C) Reading a student’s application. D) Borrowing money for a business.
10. A) Bernard. B) Bernard’s wife.

C) Bill. D) Ruby.
Section B

Directions : In this section, you will hear 3 short passages. At the end of each passage, you
will hear some questions. Both the passage and the questions will be spoken only
once. After you hear a question, you must choose the best answer from the four
choices marked A), B), C) and D). Then mark the corresponding letter on the
Answer Sheet with a single line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11. A) 3,000,000. B) 500,000.

C) 1,000,000, 000. D) 1,000,000.

12. A) Making a spoken agreement.

B) Taking words from one language and incorporating them into the vocabulary of an-
other language.

C) Asking someone to use his dictionary.

D) Taking words from a language and then declaring that they may no longer be used
in the first language.

13. A) Vocabulary. B) Borrowing.

C) Richness. D) Making something one’s own.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) Probably around the year of 150. B) About 1843.
C) About 150 years ago. D) Probably in 1840.
15. A) To report their work during the year.
B) To give them their Christmas greetings.
C) To show that they could draw beautiful pictures.
D) To practise writing poetry.
16. A) William Egley. B) John C. Horsley.

C) A boarding school student. D) No clear answer.



Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17. A) 300,000. B) 3,000,000.
C) 300,000,000. D) 3,000,000,000.
18. A) Chinese. B) German.
C) Dutch. D) Canadian.
19. A) Swedish, Danish, Norwegian, Icelandic, Modern High German.
B) Frisian, Dutch, Flemish, Low German.
C) Latin, Greek, Norman French.
D) Angles, Saxons, Jutes.
20. A) British. B) Celtic.
C) Indo-European. D) Icelandic.
Part I Vocabulary and Structure (20 minutes)

Directions ; There are 30 incomplete sentences in this part. For each sentence there are four

21.

22.

23.

24.

25.

26.

217.

choices marked A), B), C) and D). Choose the ONE that best completes the sen-
tence. Then mark the corresponding letter on the Answer Sheet with a single line

through the centre.

We decided to pay for the furniture on the _ plan.

A) agency B) installment

C) illusion D) patent

Twins do not always display a noticeable

A) complement B) sensitivity C) offspring D) resemblance
One must the United States five years in order to apply for citizenship.
A) reside in B) accommodate to C) invade D) abandon
Because the details of project were rather hazy, we decide to the proposal.
A) accept B) reject C) dispose D) accelerate
The two trucks with each other without anyone killed or injured.

A) bumped B) collided C) crashed D) hit

Travel can be an excellent to one’s education.

A) compliment B) complement C) accomplishment D) achievement

Some cosmetics manufacturers attempt to capture the rose’s unmistakable

in soap and perfume.
A) tension B) texture C) scent D) freshness
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28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

Her shirt had been so in packing that she had to iron it before going out.

A) crushed B) faded C) untidy D) dirty

We need one hundred more signatures before we take the to the governor.
A) panel B) kernel C) petition D) paragraph
When the rent was due, the poor man for more time.

A) pleaded B) squashed C) exerted D) cursed

The microscope the object 400 times.

A) prolongs B) increases C) expands D) magnifies

The adolescent needs an for all that energy.

A) accent B) admission C) operation D) outlet

An agreement between the two parties was reached through concessions.
A) hysterical B) identical C) radical D) reciprocal
There were 1,000 people attending the lecture.

A) coarsely B) clumsily C) roughly D) grossly

We’d better the whole place in case it’s been bugged.

A) leave. .. alone B) check...out C) take...down D) pull...down
The tiger continued to us by walking round and round our tent.

A) trap B) transplant C) menace D) provoke

The birds’ singing announces the of spring.

A) event B) vent C) inlet D) advent

When the guest speaker finished his eloquent speech, the audience

A) elapsed B) admired C) applauded D) transferred

The United States is trying to with the serious problems brought on by

the energy crisis.

A) resent B) cope C) cooperate D) mark

Each chess player will have five minutes to his next move.

A) produce B) release C) dissolve D) ponder

Having lived in the same town for ten years, he felt a strong to travel else-
where.

A) strain B) fatigue C) urge D) shock

The project sounds perfect in theory, yet it’s totally in this region.

A) impracticable B) insoluble C) impassable D) unreachable
When you turn on a transistor radio the sound comes on immediately; when you turn
off, it

A) fades in B) fades out C) fades down D) fades up

We have to get new furniture; this is too
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A) lame B) steep C) idle . D) shabby

45. He smokes one cigarette after another, and I'm afraid he’s become a

smoker.

A) line B) rope C) chain D) tube
46. The doctor gave the girl a tablet to her pain.

A) aggravate B) increase C) augment D) alleviate
47. Newspaper show a wide variety of available housing.

A) advertisements  B) headlines C) columns D) editorials

48. When their rent increased from $§ 300 to $ 500 a month, they protested against such

a increase.

A) handsome B) tremendous C) difficult D) tiring
49. 1f you don’t get to work on time, your boss will you.

A) hire B) rebel C) fire D) admire
50. A good painter can give you the of broad space in his works.

A) imagination B) illusion C) imitation D) identification
Part 1l Reading Comprehension (35 minutes)

Directions : There are 4 reading passages in this part. Each passage is followed by some
questions or unfinished statements. For each of them there are four choices
marked A), B), C) and D). You should decide on the best choice and mark the

corresponding letter on the Answer Sheet with a single line through the centre.

Questions 51 to 55 are based on the following passage.

For anyone who is set on a career in fashion it is not enough to have succeeded in col-
lege. The real test is whether they can survive and become established during their early
20s making a name for themselves in the real world where business skills can count for as
much as creativity.

Fashion is a hard business. There is a continuous amount of stress because work is at
a constant breakneck speed to prepare for the next season’s collections. It is extremely
competitive and there is the constant need to cultivate good coverage in newspapers and
magazines. It also requires continual freshness because the appetite for new ideas is insa-
tiable. “We try to warn people before they come to us about how tough it is,” says Lydia
Kemeny, the Head of Fashion at St. Martin’s School of Art in London, “and we point out
that drive and determination are essential. ”

This may seem far removed from the popular image of trendy and dilettante (BF% 3
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MPBRAEBAELTH#A) young people spending their time designing pretty dresses.
That may well be what they do in their first year of study but a good college won’t be slow
in introducing students to commercial realities. “We don’t stamp on the blossoming flower
of creativity but in the second year we start introducing the constraints of price, manufac-
turability, marketing and so on. ”

Almost all fashion design is done to a brief. It is not a form of self-expression as
such, although there is certainly room for imagination and innovation. Most young design-
ers are going to end up as employees of a manufacturer or fashion house and they still need
to be able to work within the characteristic style of their employer. Even those students
who are most avant-garde (B#§JE ) in their own taste of clothes and image may need to
adapt to produce designs which are right for the mainstream Marks and Spencer type of
market. They also have to be able to work at both the exclusively expensive and the cheap
end of the market and the challenge to produce good design inexpensively may well be

more demanding than where money is no object.

51. To be successful as a fashion designer you must
A) have excellent academic qualifications
B) be able to handle business problems
C) be well established before you are 20
D) have taken an intensive commercial course

52. All fashion designers should expect to

A) cope with continual fatigue
B) make a rapid turnover
C) make profit quickly
D) face tough competition
53. In fashion design one of the most important factors is to
A) satisfy excessive demands
B) maintain good press contacts
C) make instant decisions
D) cultivate public taste

54. Training must acquaint the student with a knowledge of

A) marketing techniques
B) fashion economics

C) factory management
D) trading patterns

55. Initially, many young designers have to
R 6 —



A) work for department stores
B) change their personal taste in fashion
C) repress their creativity

D) conform to a certain image

Questions 56 to 60 are based on the following passage.

It’s tough life being a school-child these days. There are so many politicians, social
scientists and educationists crowding round his desk to impress their different philosophies
on his young mind that it’s a wonder he has any time left for reading, writing and arith-
metic.

Alcohol is the newest subject on his curriculum. An alcoholism expert was of the firm
opinion that children should begin receiving rational “guidance” about beer, wine and spir-
its, from their parents or teachers, when they reach the age of ten or eleven. The idea is
that children should not be left to find out about drink for themselves at a later age, in
case they find out the wrong things. Tell them young and they won’t make mistakes later.
Exactly the same theory applies to their sex education. All sorts of traumas have been
recorded in adolescents who have had the experience of finding out about sex themselves.
Clearly they need to be protected from such a spontaneous discovery, by learning in ad-
vance what sex is all about.

As if this wasn’t enough, the poor child is nowadays exposed to a rage of adult rituals
of which in the old days he could have remained in blissful ignorance until he finished his
education. Leaflets are pushed into his locker urging him to join the Young Socialists. Na-
tional Union of School Students’ brochures arrive, suggesting he think up an issue and
then campaign for it in school hours with sit-ins, walk-outs and whatever tactics are nec-
essary.

Even his lessons are becoming politicized. Library boards and school boards condemn
some of the children’s classics given him in reading classes because of their sexist discrimi-
nation. Can’t that life be taught in the class-room: it teaches its own lessons its own time.
56. The reason that children should be taught about alcohol and sex is that .

A) they will have an easy life when they go into the society

B) they will be protected from spontaneous discoveries

C) they are expected to be versatile in many subjects

D) they must be exposed to different philosophies
57. The word “traumas” most probably means

A) bad behaviors

B) different attitudes



C) unexpected troubles
D) physical or emotional blows
58. It can be inferred from the passage that
A) children were not required to learn about a lot of adult activities before
B) only the poor children have recently become exposed to many adult things
C) children used to feel it easy to finish their education
D) it isn’t enough for a child to finish only the normal education
59. Which of the following opinions does the writer stand for in this passage?
A) Children should not to be left to find out adult things themselves.
B) Children can not learn life only in the classroom.
C) Alcohol and sex should not be the subjects on the curriculum.
D) It’s better for children not be involved in any social activities.
60. The tone of the whole passage is being
A) serious B) appreciative

C) sympathetic D) ironical

Questions 61 to 65 are based on the following passage.

In 1665, Hooker published a book in which he said that light travels in small, rapid
vibrations, and that coloured light is produced by changes in these vibrations. Hooker had
developed a number of experiments with light and colour, and his theory grew out of these
experiments.

Seven years later, a new member of the Royal Society, Isaac Newton, sent to the So-
ciety an account of one of his experiences. Newton had been making lenses in an attempt
to make a refracting (Fr§FA)) telescope. But no matter how carefully he worked, a weak
ring of colours always blacked out the outer part of each lens. This colour ring interested
him, and he decided that he would have to know more about light and colour before he
could go on with his instrument-making.

Newton began his work on colour with a thin ray of light which he studied carefully.
He made this light pass through a prism, a glass instrument which breaks up light rays.
Many people wrongly believe that Newton was the first man to discover that when white
light passes through a prism it produces the colours of the rainbow. If we stop and think
about it, we realise that this could not be true, since prisms had been used by scientists
for many years. What Newton really found was that a thin ray, round in shape, threw a
narrow ribbon of separate colours on his wall after it passed through the prism.

Newton could not explain what happened, and he proceeded to experiment further.
By placing another prism in the path of the ray of coloured lights, he was able to change it
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back to a ray of white light.

From these and many more experiments, Newton learned that white light is made up

of coloured lights, and that the amount that light is bent in passing through a prism varies

for each colour. Red light is bent the least, orange bends a little more. This is followed by

yellow and so on to violet, which is bent the most.

61.

62.

63.

64.

65.

It is true that Hooker’s theory

A) was further modified by Newton’s experiments on refraction

B) was denied validity by Newton’s work on white light

C) enlightened Newton on his discovery of the composition of light

D) deserved to be the pioneer realization of colored light

Newton began this work on colour because

A) he disagreed with Hooker’s theory

B) he needed to know what was causing the fault in his lenses

C) the Royal Society employed him to make a refracting telescope

D) he wanted to know how to get a strong ring of colours around the edges of his lens-
es

The writer says, “If we stop and think about it, we would realise-:-” This means that

A) no one before had ever made light pass through a prism

B) it was incredible that a prism breaks up white light into colours of the rainbow
C) the effect of light passing through a prism was known before Newton’s experiment
D) the colours of the rainbow are not produced by light passing through a prism
The difference between any two coloured lights passing through a prism is

A) made by placing a second prism in the path of the ray of colored lights

B) brought about by different passing rate of each light through the prism

C) produced by the variation of the amount of a light passing through the prism
D) caused by the difference in the amount that the light has been bent

From the information given, we can work out that blue light is bent

A) a little more sharply than green

B) as sharply as violet

C) sharply only next to orange

D) not so sharply as yellow

Questions 66 to 70 are based on the following passage.

The focusing or sharpening of the image is performed by a special apparatus. In every

camera, the farther the object is from the eye, the farther forward-and the nearer the ob-



ject is to the eye, the farther backward — is its image thrown. In photographers’ cameras
the back is made to slide, and can be drawn away from the lens when the object that casts
the picture is near, and pushed forward when it is far. The picture is thus kept always
sharp. But no such change of length is possible in the eyeball; and the same result is
reached in another way. The lens, namely, grows more convex when a near object is
looked at, and flatter when the object recedes (goes back). This change is due to the an-
tagonism (Xt#7) of the “ciliary (BEAR{K) muscle”. The ligament (#]#7) when the ciliary
muscle is at rest, assumes such a spread-out shape as to keep the lens rather flat. But the
lens is highly elastic; and it springs into the more convex form which is natural to it when-
ever the ciliary muscle, by contracting causes the ligament to relax its pressure. The con-
traction of the muscle, by rendering the lens more refractive, adapts the eye for near ob-
jects (“accommodates” it for them, as we say); and its relaxation, by rendering the lens
less refractive, adapts the eye for distant vision. Accommodation for the near is thus the
more active change, since it involves contraction of the ciliary muscle. When we look far
off, simply let our eyes go passive. We feel the difference in the effort when we compare
the two sensations of change.
66. In order to focus on distant objects, the lens of the eye

A) becomes more convex B) contracts the ciliary muscle

C) flattens D) becomes more refractive
67. The ligament, when not acted on by the contraction of the ciliary muscle,

A) maintains its pressure on the lens so that the lens remains flat

B) relaxes its pressure on the lens so that it remains convex

C) maintains a pressure on the lens so that the lens remains convex

D) relaxes its pressure on the lens so that it remains flat
68. Functionally, we may compare

A) the lens of the camera with the lens of the eye

B) the lens of the eye with the sliding of the back of the cameras

C) the sliding of the back of the camera with the adaptability of the eyeball

D) the ciliary muscle with the eye ligament
69. Which of the following activities is most tiring for the lens of the eye?

A) Watching a movie.

B) Watching squirrels being fed.

C) Reading a book.”

D) Locking at a distant mountain.
70. The tone of this passage can best be described as

A) professionally scientific



B) informal and matter of fact
C) argumentative

D) matter of fact and formal

Part IV Cloze Test (15 minutes)

Directions ;: There are 20 blanks in the following passage. For each blank there are four
choices marked A)s B), C) and D) at the end of the paper. You should choose
the ONE that best fits into the passage. Then mark the corresponding letter on

the Answer Sheet with a single line through the centre.

What does the future hold for the problem of housing? A good 71 depends, of
course, on the meaning of “future”. If one is thinking in 72 of science fiction and the
space age _ 73  at least possible to assume that man will have solved such trivial and
earthly problems as housing. Writers of science fiction have 74  the suggestion that
men will live in great comfort, with every 75 device to make life smooth, healthy and
easy, 76 not happy. But they have not said what his house will be made of.

The problems of the next generation or two can more readily be imagined. Scientists
have already pointed out that 77  something is done either to restrict the world’s rapid
growth in population or to discover and develop new sources of food (or both), millions of
people will be dying of starvation or, 78 , suffering from under-feeding before this
79 is out. But nobody has worked out any plan for housing these growing popula-
tions. Admittedly the worse situations will occur in the 80  parts of the world, where
housing can be of light structure, or in backward areas where standards are 81 low.
But even the minimum shelter requires materials of 82 kind, and in the crowded,
bulging towns the low-standard “housing” of flattened petrol cans and dirty canvas is far
more wasteful 83  ground space than can be tolerated.

Since the war, Hong Kong has suffered the kind of crisis which is likely to 84 in
many other places during the next generation. _ 85 millions of refugees arrived to

86 the already growing population and emergency steps had to be taken to prevent

squalor and disease and the 87 of crime. Hong Kong is only one small part of what

will certainly become a vast problem-and not 88 a housing problem, because when
population grows at this rate there are 89 problems of education, transport, water
supply and so on. Not every area may have the same resources as Hong Kong to 90

and the search for quicker and cheaper methods of construction must never cease.
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71.
72.
73.
74.
75.
76.
71.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.

A) transaction
A) reference

A) he is

A) conveyed

A) conceptual
A)if

A) only if

A) for the better
A) age

A) hottest

A) customarily
A) every

A) of

A) rise

A) Precisely

A) swell

A) extension

A) likely

A) accompanying

A) stretch out

Part V

B) deal

B) respect

B) one is

B) conceived
B) considerate
B) but

B) even if

B) in the least
B) resource
B) coldest

B) habitually
B) some

B) on

B) raise

B) Numerically
B) diverge

B) disposal
B) certainly
B) associating

B) stick to

C) definition
C) terms
C)itis

C) deduced
C) conceivable
C) yet

C) in case

C) at the most
C) century

C) poorest

C) conventionally
C) this

C) for

C) arise

C) Literally
C) inflate

C) spread

C) merely

C) escorting

C) take in

Writing

D) assumption
D) consequence
D) we are

D) formulated
D) complimentary
D) although
D) unless

D) at the best
D) problem

D) richest

D) traditionally
D) certain

D) with

D) arouse

D) Previously
D) delete

D) expansion
D) necessarily
D) attaching
D) draw upon

(30 minutes)

Directions ; For this part, you are allowed thirty minutes to write a composition on the topic

What kind of Life to Live— Realistic or Romantic. You should write at least 120

words, and base your composition on the outline given in Chinese below

What kind of Life to Live—Realistic or Romantic?
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Model Test Seven

Part I W ERIE S RER

1.C 2.D 3.C 4.C 5B 6.B 7.D 8A 9.B 10.B 11.D 12.B 13.A
14.B 15.A 16.D 17.C 18 A 19.B 20.C
Section A
1. W: I'm a little tired, so I think I’ll go to the student lounge and listen to a little mu-
sic. Care to join me?
M. I’d love to, but I have to go to the library to look at a book on reserve.
Q: Why can’t the woman go with the man?
2. W. If we hurry we can take the express train and save an hour, couldn’t we?
M: Yes. The express takes only three hours to get to New York.
Q: How long does it take the local train to get to New York?
3. M: What do you think of your new apartment?
W. Well, it’s quite nice really, although I’m having a hard time getting used to such a
big building.
Q: What is the woman’s problem?
4. W, Why are you so late? I’ve been waiting for more than a half hour!
: My bicycle had a flat tire and I had to walk.
: Why was the man delayed?

<

M
Q
. W It’s always so hot and humid in here.
M. That’s because there’s so many plants and windows.
Q: Where did this conversation most likely take place?
6. W: You know even I could do a better job of running the school’s newspaper than the
editor.
M: Oh, you could, could you think Tom?

: What does the man mean?

: What are you going to major in?

£ =5 0

: I think it’ll either be mechanical engineering or civil engineering. My father wants
me to be a lawyer, but I’d rather build bridges or things like that.

: What does he want to be?

: I’ll take these 3 books. Are they {ifty cents each?

: The two paper books are, but this one is 75 cents.

®
O 2 =5 0

: How much will the 3 books cost all together?



9. W Did you see Susan in the business office?
M: Yes, she was applying for a student loan.
Q: What was Susan doing?
10. W Hey, Bernard, Bill is spreading the rumor that you beat your wife!
M. Well, Ruby, if anyone else were saying that, I’d beat the stuffing out of him, but
a person who believes anything that Bill says is a bigger fool than he is.

Q: Who was supposedly beaten?

Section B

Passage One

The vocabulary of Modern English is- very rich. It is probably more extensive than
that of any other language in the world. It has been estimated that the total number of
Modern English words is over 1,000,000, if one includes slang and recent technical and
scientific terms.

The great number of words in the Modern English lexicon is largely due to the fact
that English has always been a “word-borrowing” language. From its earliest days, Eng-
lish has taken words from other languages and made them its own. In the Modern English
period, there have been more borrowings from Latin, Greek, and a large number of Euro-

pean and other languages. All in all, English has “adopted” words from more than 50 oth-

er languages.

Questions 11 to 13 are based on the passage you have just heard.

11. Approximately how many words are contained in the vocabulary of Modern English, if
slang and recent scientific and technical terms are included?

12. What does word-borrowing mean?

13. What does lexicon mean?

Passage Two

Every December millions of Christmas cards go through the post. There are pictures
of stars and snow or Christmas Trees. In these days it is hard to think of a Christmas
without Christmas cards. Yet little over a hundred and fifty years ago there were none at
all. Here is just one story of the way in which they started.

Some boys of those days who were at boarding schools had to write a special piece of
English at Christmas time. This was sent to their parents so that they could see how the
boys’ work had improved during the year.

Young people like to make little drawings on the paper when they write letters or po-



ems. These boys were the same. They used to draw little pictures all round the writing.
Sometimes they coloured them, and after a time the pictures became more important than
the writing. These were the first Christmas cards.

Then grown-up people copied the idea. The early Christmas cards of course were all
made by hand, and there has always been some doubt about who was actually the first per-
son to send one. But some people believe that one of the first artists who designed a
Christmas card was John C. Horsley. In 1843, he was asked to design a Christmas card.
These cards were printed in black and white and coloured by hand. It is said that about 1,
000 of them were sold in London that year. At about the same time, another English
artist, William Egley, designed a card and had it printed. He had 1,000 of them sent to

his friends with the now familiar greeting “A Merry Christmas and a Happy New Year”.

Questions 14 to 16 are based on the passage you have just heard.
14. When did people started sending Christmas cards?
15. Why did the boarding school students send a special piece of writing to their parents?

16. Who was actually the first person to design a Christmas card?

Passage Three

English is one of the most important languages of the world today. With more than
300,000,000 people speaking English in the United Kingdom, the United States, Canada,
Australia, New Zealand, South Africa, and other countries, it is the second most widely
used modern language. Only Chinese is spoken by more people.

Linguists classify English as a Germanic language. Its closest linguistic “relatives” are
Frisian, Dutch, Flemish, and Low German. More distant relatives include Swedish, Dan-
ish, Norwegian, Icelandic, and Modern High German. Its most distant relatives include
other members of the Indo-European language family of which the Germanic languages are
a part.

Questions 17 to 20 are based on the passage you have just heard.

17. Approximately how many people speak English today?

18. What language exceeds English in the number of people who speak it?
19. What languages are most closely related to Modern English?

20. To what large language “family” does English belong?
Part I

21. (B) installment 4>$34} 3Kk



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

agency fLHRAL , HL# ;illusion £J8 spatent A
(D) resemblance 24

complement #}35 , ¥} /& s sensitivity BURYE , R 84 offspring JLE, FHh
(A) reside in JEfE

accommodate to ¥ ,3& X4 sinvade ¥, {2 & ;abandon wH.BR
(B) reject {E4E I

accept B:3% ;dispose Be & , i B saccelerate fF , fE &
(B) collide (with) H ## , M

bump (against) & , R ;crash (against) Wi 8 ;hit (against)
(B) complement 3%, %M 2

compliment #K# , 1% ;accomplishment B3k, 52 iR » & & ;achievement K , 78 AL »

¥
(C) scent HFX, KMk

tension FE 77, B3 stexture 414, 4141, %549 ;freshness 78, ¥ 3
(A) crush 4%, 7%

fade iB & ;untidy ANE I ;dirty B
(C) petition &+, H3

panel B % 5 4 8 ;kernel (RELH)E, 1=, 8% L, W sparagraph B
(A) plead B3R

squash FEBE, @ IE , E#l sexert R A, R jcurse i
(D) magnify B K,¥ K

prolong #EH ,$H jincrease b Ft, 328, i;expand §3K, ¥ /&
(D) outlet H 0 ,HAK D

accent ¥, 0% ;admission 44, LA, JE A soperation & 7, ¥ 4E
(D) reciprocal tHE 8,3 #H 1

hysterical BK¥7J& B i) ;identical [F— 9, &) ;radical HAHBEN
(C) roughly HiEg#h, £ R %

coarsely ¥ 1, Bl B # ;clumsily S HHHb , ¥l 8 3 ;grossly S K18
(B) check. . .out Zil /&L

leave. . . alone 7 F 8, BAE R stake. . . down ¥ FF;pull. .. down #{H
(C) menace B

trap P59 , P U stransplant BH , B A provoke MR, 3, HhE
(D) advent ¥

event B, k¥ ;vent R O, HES il sinlet AQ,H#D
(C) applaud % PR, HE

elapse 1t 2 ;admire % 8, MR stransfer &3, R



